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% P4
Qr = 10~-8; % W/m"3
ge = 10; % m/s"2
k = 10"-6; % m™2/s
rho = 4000; % kg/m”~3
Cpii= 1260; % J/kgK
K = 5; % W/mK
alpha = 107-5; $ 1/C
delta_T = 20; $ C
mi = 10721; % Pas
beta = 0.01;
Re = 6400000; % m

P4_R1l = sgrt(4*Qr*Re*mu/ (rho”2*Cp*beta*delta_T"2*ge*alpha))

d = P4_R1/2;

P4_Ral = d.”3*alpha*rho*ge.*P4_R1/Re*delta T/ (mu*k)

Ra = [200 1000];

P4 RZ2 = sgrt(2*beta*Ra*k*delta_T*rho*Cp/Qr)
ANS
P4_R1l = 5.6344e+06

P4_Ral = 1.5747e+05

P4_R2 =
1.0e+05 *
2.0080

4.4900
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% PS5

gamma = 0.05;

maQ = 1'0~22; % P
T0 = 1300; % C
delta_T = 10; % C
t = 4.5%10"9*%60*%60%24*365; % s
d=Re/2;

LHS = log(Qr*Re*mul/ (beta*d”2*rho”2*Cp*delta_T"2*ge*alpha)) - log(l -
exp (-t*gamma*Qr/ (rho*Cp)) ) ;

P5_T a = LHS/gamma + TO

P5_g conv_a = beta*d”2*rho”2*delta_T"2*ge*alpha*Cp/ (mul*exp (gamma* (T0-
P5_T a)))

Qr = 107-12;

LHS = log(Qr*Re*mul/ (beta*d"2*rho”2*Cp*delta_T"2*ge*alpha)) - log(l -
exp{-t*gamma*Qr/ (rho*Cp))) ;

P5_T b = LHS/gamma + TO

P5_g conv_b = beta*d”Z*rho”2*delta_T"2*ge*alpha*Cp/ (muld*exp (gamma* (T0-
P5_T _b)})

ANS

P5_T a = 1.3687e+03
P5_g conv_a = 0.0640
P5_ T b = 1.3158e+03

P5_g conv_b = 0.0045



